
: 
Au 40dB; f=500Hz – 2MHz ; Uo=1.5V; RL=2k ; RoA=50 ; CL=200pF; RiA=50 ;

: 
 101207035 -  - . 43

: 28.11.2010 .
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 10%  30% 

.

: IE=1,13mA; UCB0 = 12V

: IE= 2 mA; UCB0 = 20V
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 (1 –  B, E, C) :

1
2 3

2,5
p

p

l
x m

x m

•  = 2,5 m;

• X B = XBC - 1 m= 1,5 m;

• n+ = 2 m;

• ,  ( .

) - a = 5 m;

•  - Pmax = 2W/mm2;

:

x .= xBC+LC l

C

CBOSio
C qN

UL 2  -  (

)

Si = 12;

0 = 8,85.10-14F/cm;

q = e=l,6.10-19C;

Nc ce :

NC=3.1016 cm-3;
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m
qN

UL
C

CBOSio
C 1

2

x .= xBC+LC l=2,5 m+1 m+2 m=5.5 m

 : a = 5 m, b = 2a = 10 m – 

 :

m
Jba

IL
E

E
E 7

10.10.15.2
10.2

)(2 76

3

: L=180 m; H=110 m

, .

.

:

:

, , F
R1c 91 C2f, C4f 47p
R1e 12k
R22, R42 49,5k
R2c, R4c, R3e, R5e 6.2k
R2f, R4f 560
R2e, R4e 3.3k
R31, R51 43k

, 

.

:

s

Rs

R
bRl

P
IRb I .;

.

max

2

,

 : l – ;

 b – ;

sR :
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/200b
SR ;

/5e
SR ;

/5kRb
S ;

P-  R;

maxP =4 W/ m2 -  R;

Ri,  IR, m P, mW RS, / K, ( . ) b, m l, 
R1c 91 0,56 0,03 5 17,2 3 47
R1e 12000 0,58 4 200 59 16 980
R22, R42 49500 0,068 0,23 5000 8,9 10 95
R2c, R4c, 6200 0,705 3 200 30 20 610
R3e, R5e 6200 1,13 8 200 30 32 996
R2f, R4f 560 0,71 0,28 5 111 3 354
R2e, R4e 3300 0,71 1,66 200 15,5 20 331
R31, R51 43000 0,1 0,44 5000 7,6 14 123

  

:

    RAB/RS=4,05                          2,24                                   0,25

:

d
C

c
cA

r

c

.0
0

0

:

c ;

 C- ;
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0C ;

8,3r ;

14
0 10.85,8 ;

, 

0,2 m,  1016 .cm; 

 C0=180pF/mm2;

C=C0bL=C0AC; => AC=C/C0=0,26mm2;

b=L= mAC 511

, 

.

 100 100 m  100 m




